>>symsxyzt

>>x=-1:.4:8; y=-6:.4:1;

>> [X,Y]=meshgrid(x,y);

>> f=inline('3*x+2*y-4','x",'y'");
>> 71=f(X,Y);

>> surf(X,Y,Z1)

>> hold on

>> g=inline('10-x+2*y','x",'y');
>>72=g(X,Y);

>> surf(X,Y,Z2)

>> h=inline('(x+y-8)/3','x,'y'");
>>73=h(X,Y);

>> surf(X,Y,Z3)

>> hold off

>>

>>A=[20-1;1,27;3-31]
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>>B=[411;2-13;0-25]
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>>Y=[2;3;9]
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ans =

6 1 O

3 1 10

3 5 6
>>2*A-3*B
ans =

-8 -3 -5
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6 0 -13
>> A*Y
ans =
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>>7*B
ans =

8 7 -13
>> AN2
ans =

1 3 -3

25 -17 20

6 -9 -23
>> A*B
ans =

8 4 -3

8 -15 42

6 4 -1
>> A

ans =
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